REZF INJ— BEAN

=HES 151228
[7—7<] (B)
@ALL OUT
> sUnNnnvY FIisH
A
Menu | m | |&%| Set| Cycle | | a8 Distance Time
[ Conditioning) ® SBAFLYF
W-up 400 X 1 1 7°00” Faf R 400 0:07:00
Main-S 50 X 20 1 2°00” 2HATNIS! ! 1000 0:40:00
10K Ho1=HKkE
—ERBENETL=,
SHESY——IF4ANSHBFEYELEFR
NS DISATY,
RELEHRT—HIZBY EFTITEELLS ! !
C-down 100 X 1 1 300 &£B 100 0:03:00

Total 1500 0:50:00




REZF INJ— BEAN

=HES 151228
[7—7<] (B)
@ALL OUT
> sUnNnnvY FIisH
B
Menu | m | |&%| Set| Cycle | | a8 Distance Time
[ Conditioning) ® SBAFLYF
W-up 400 X 1 1 7°20” Faf R 400 0:07:20
Main-S 50 X 20 1 2°00” 2HATNIS! ! 1000 0:40:00
10K Ho1=HKkE
—ERBENETL=,
SHESY——IF4ANSHBFEYELEFR
NS DISATY,
RELEHRT—HIZBY EFTITEELLS ! !
C-down 100 X 1 1 300 &£B 100 0:03:00

Total 1500 0:50:20




REZF INJ— BEAN

=HES 151228
[7—7<] (B)
@ALL OUT
> sUnNnnvY FIisH
C
Menu | m | |&%| Set| Cycle | | a8 Distance Time
[ Conditioning) ® SBAFLYF
W-up 400 X 1 1 800" Faf R 400 0:08:00
Main-S 50 X 20 1 2°00” 2HATNIS! ! 1000 0:40:00
10K Ho1=HKkE
—ERBENETL=,
SHESY——IF4ANSHBFEYELEFR
NS DISATY,
RELEHRT—HIZBY EFTITEELLS ! !
C-down 100 X 1 1 300 &£B 100 0:03:00

Total 1500 0:51:00




REZF INJ— BEAN

=HES 151228
[7—7<] (B)
@ALL OUT
> sUnNnnvY FIisH
D
Menu | m | |&%| Set| Cycle | | a8 Distance Time
[ Conditioning) ® SBAFLYF
W-up 350 X 1 1 7°00” Faf R 350 0:07:00
Main-S 50 X 20 1 2°00” 2HATNIS! ! 1000 0:40:00
10K Ho1=HKkE
—ERBENETL=,
SHESY——IF4ANSHBFEYELEFR
NS DISATY,
RELEHRT—HIZBY EFTITEELLS ! !
C-down 100 X 1 1 300 &£B 100 0:03:00

Total 1450 0:50:00




REZF INJ— BEAN

=HES 151228
[7—7<] (B)
@ALL OUT
> sUnNnnvY FIisH
E
Menu | m | |&%| Set| Cycle | | a8 Distance Time
[ Conditioning) ® SBAFLYF
W-up 300 X 1 1 630" Faf R 300 0:06:30
Main-S 50 X 20 1 2°00” 2HATNIS! ! 1000 0:40:00
10K Ho1=HKkE
—ERBENETL=,
SHESY——IF4ANSHBFEYELEFR
NS DISATY,
RELEHRT—HIZBY EFTITEELLS ! !
C-down 100 X 1 1 300 &£B 100 0:03:00

Total 1400 0:49:30




REZF INJ— BEAN

=HES 151228
[7—7<] (B)
@ALL OUT
> sUnNnnvY FIisH
F
Menu | m | |&%| Set| Cycle | | a8 Distance Time
[ Conditioning) ® SBAFLYF
W-up 300 X 1 1 7°20” Faf R 300 0:07:20
Main-S 50 X 20 1 2°00” 2HATNIS! ! 1000 0:40:00
10K Ho1=HKkE
—ERBENETL=,
SHESY——IF4ANSHBFEYELEFR
NS DISATY,
RELEHRT—HIZBY EFTITEELLS ! !
C-down 100 X 1 1 300 &£B 100 0:03:00

Total 1400 0:50:20




